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=) UPCOMING ONLINE BATCHES

07 DEC 2022

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

December 2022

14 DEC 2022 21 DEC 2022

07:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

14 DEC 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

ENGLISH

28 DEC 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

28 DEC 2022

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

BENGALI

& www.mahendras.org e  7052477777/7052577777



8, 29,

113, 449,

?

1.673
2.984
3.1484
4.1793
5.NOT




5, 15.3, 61.6, 308.5, ?, 12961.9

1.1739.6
2.1639.6
3.10877.9
4.9877.9
5.1851.6



86.34 +16.9 — 45.62 + ? = 20.85

1.-46
2.16
3.-36
4.36
5.-56




? = 12% of 500 + 15% of 600

1.150
2.200
3.179
4.185
5.225




3 x59 o0of (36:-4) X6 -2?+15

4

1.40
2.76
3.91
4.26
5.35




75 - 3x {(6*+6)+3} + 1/3+13=2

1.50
2.40
3.60
4.70
5.80




(52 x5+ (5x10)x20} ~5>=2?

1.135
2.250
3.175
4.385
5.NOT




Directions: Study the following table carefully to answer the given question that
follow. The table shows the population of 4 cities and ratio of man and woman
among those who voted in panchayat elections.

facer: fArafafad diferdr &1 caragad 3egad fifsd 3R A faw e g4 a1 3w
QTS| arferer # 4 A A FATEIT 3R TIT ATl A AdGT Hia arell A gy 3R

ATEST & 3feIUTd I G 137

.. Total | Total citizen who Ratio of man and
Cities | ..
citizen voted woman who voted
F 6000 90% 5:4
G 4800 60% 2:1
H 15000 50% 1:1
I 12500 80% 2:3




Total population of city G and I together is approximately what percent of total

population of city H?
W& G 3R T el TAUEAT 98X H Y THeT AEEAT hT TR fehe =T Jfaora 32

.. Total Total citizen | Ratio of man and
Cities ..
citizen | who voted |woman who voted
F 6000 90% 5:4
€ 4800 60% P
H 15000 50% 1:1
12500 80% 2:3

1.120%
2.125%
3.115%
4.154%
5.118%



What is the ratio of woman who voted in city G and man who voted in city I ?

e G H HAGH A ATt AigeTrell R @ [ H HAQT ol SATel IEu1 ohT STTaTd T

27
.. Total Total citizen | Ratio of man and
Cities ..

citizen | who voted |woman who voted

F 6000 90% 5:4

€ 4800 60% P

H 15000 50% 1:1

12500 80% 2:3

1.6: 25
2.7 :10
3.8:25
4.9:20
5.25:14



Total number of citizen who voted in city F and H together is?

e F 3R H ¥ Teh AT AAGT oA ATl TNTREhT ohl het Tt 3T 82

.. Total Total citizen | Ratio of man and
Cities ..
citizen | who voted |woman who voted
F 6000 90% 5:4
€ 4800 60% P
H 15000 50% 1:1
12500 80% 2:3

1.11900
2.12900
3.10000
4.9000

5.11000




Man who voted in city ‘I’ are what % of population of city ‘F’ who did not voted?
I "' W HASTH ohid ATCAT S t<h ITEX 'F' hl THEGAT Rt TehaAT TTavTd & N Hag™

T2 feRaT?
.. Total Total citizen | Ratio of man and
Cities ..

citizen | who voted |woman who voted

F 6000 90% 5:4

€ 4800 60% P

H 15000 50% 1:1

12500 80% 2:3

1.654 1/3%
2.666 2/3%
3.623 2/7%
4.677 3/7%
5.893 4/9%



What is the total sum of difference between man and woman who voted in city G

and F together?

IR G AR F | T AT AAGH Rl qTeA ToN TR AT o 1< X T THeT 0T T 82

.. Total Total citizen | Ratio of man and
Cities ..
citizen | who voted |woman who voted
F 6000 90% 5:4
€ 4800 60% P
H 15000 50% 1:1
12500 80% 2:3

1.1500
2.1560
3.1600
4.1650
5.1620



Difference between marked price and the cost price is 50% of the selling price. if the
discount percentage is 20% , then find the ratio between marked price and cost price?

3iTeRT Ted ST 3HT T o S ST 3T ToTsha 9o T 50% B TS T TFA9Td 20% &, At siferd 0o X
h o o ST T STTUTA JATA ST

1.5:3
2.7:5
3.3:5
4.7 :11

5.NOT



If income of P is doubled and his expenditure remains the same, then he saves Rs. 40000
more than his original savings. What will be the saving of Q if his income is 15% more
than the original income of P and he spends Rs. 20000?

Tfg P ohl AT FHTT oY ST AT § 3T IHRT 9d TE1 @aT 8, a1 98 U1 Hel Fod & 40,000 TUX {2k
TEATAT 1 Q T T FAT ST ATE AT AT P T TS AT & 15% AT & 3R T7 20000 TR ST AT 2

.Rs. 20000
.Rs. 22000
.Rs. 26000
.Rs. 28000
.Rs. 32000

o B~ WON B



The ratio between the twice of present age of P and present age of Q is 5 : 1. After 4 years,
the ratio between the age of P and Q will be 2 : 1. Find the average age of P and Q after 4

years?

P ST TG 37T oh G ST Q T TAHT T o el BT AT 5: 1 81 4 T ok 1, P 3R Q T AT H
a*l%ra»‘ranuwz 1 2mm 4aﬁ%aﬁPaﬁ'{Qaﬁaﬁmmm6ﬁﬁl€r

1.18 years
2.19 years
3.23 years
4.22 years
5.21 years



A person named M took loan from O and P. O claimed 20% per annum for 3 years while P >
claimed 30% per annum for 3 years. If the simple interest from the principal is same for O and
P after 3 years, then find the ratio of sum borrowed by M from O and P?

M ATHR Ueh I {wh 7 O T BT {1t 37T P O 3 3 a9t o fe10 202, afa a9 <kt 2ram forar safer P9 3 9wl o
ToTT 30% ST 9 T 3Ta ToRAT| TS WETe o WTERUT S9TS 3 9T o &1g O 3R P & foTg a0 8, @ M g
O 3R P W IUR T 15 T T ATUTA AT T

1.2:
2.3:
3.4:
4.1 :
5.NOT

N O N W



